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e : TGUe ‘F’ Hfaery ITIT TER F, (98 39 T &,
Afard &1 @S ‘g’ § &g ST FFR & F¥A & uF
Gue ‘g’ g e 3T gV 81 @UE ‘37 @ gad vget
gt f&ar ST g1

Note : Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’

has to be solved first.

gug ‘a7’
Section ‘A’
frelfera sifaerg SWIT 9941 & S T o1 & al
g3l
Answer the following very short answer type
questions in one or two Sentences. 1x10=10

1. 3guIfde 37T F7 872

What is prorata allotment ?

P.T. O.

10.
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T FBUGT T 87

What is naked debentures ?

Ug GIEAT B G B A ST B B 7
How will you calculate the cost of material consumed ?
TaTT & -9 THR -3 9 87
What are the different types of winding up ?
ST G F ST &7

What is meant by super-profit ?

379l &1 Ak qod T &7

What is Intrinsic value of shares ?

TGl @ @ ST T £

What do you understand by Realisation Account ?
=R gafara & F1 T 872

What do you mean by internal reconstruction ?
HoqHd fod # & 72

What is minority interest ?

GAIRG FEA H TR FT

Define holding company.

[ 2]
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e ‘g’
Section ‘B’

e @ SWIF F94 & W 150-200 1% GIH7
731

Answer the following short answer type questions
with word limit 150-200. 5x5=25

TF FEA1 73 10 a1t 1,20,000 THaT 3797 SRT 53 1
3T G H 32 3747 W, T 4 37T W, T2 JIH
I T TG X 2 f3dig d f-a8 Ir=a W RT 7
T4l 379 & foTq 37aeT U I gu SRk gt afrEr
T GTT & T | FEH A1 GEaHl ° AHS Ta
L/

A company issued 1,20,000 equity shares of ¥ 10

each. The amount of shares payable as I 2 on
application, ¥ 4 on allotment, ¥ 2 on first call and
2 on second and final call. Application for all these
shares were received and all amount have been duly
received. Prepare cash book in the books of
company.

3yqar

Or
BT T I H ST Y |
Distinguish between Debenture and Share.

[ 3] P.T. O.
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2. GHYF F UIRHGEH &1 T HI GHIET |

Explain the calculation of liquidator’s remuneration.

37q4ar
Or

fergl @7 IR =] GEafadl @ FaRy, S 923 F
guIft STt 81

Write any three non-current assets which are shown

in the balance sheet.
7 GEistl @ QSR fofy GRT @ F1d Hifa—
(i) sitga faf¥Eifoa gt T 6,00,000

(i) G I &1 &7 10%

(iii) 777 @7 a9 & 9 FE: T 60,000, T 80,000
3 T 1,00,000 &/

(iv) STFFTT 60,000 F &Y 7 T 6,000 TR-TR 7 G
qret 3T F Gfferd &1

Find out goodwill by capitalization method from the

following information :

(1) Average capital employed < 6,00,000
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(11) Normal rate of return 10%

(ii1) Profit for the last three years are I 60,000, I
80,000 and X 1,00,000 respectively.

(iv) Non-recurring income of I 6,000 is included in

the above mentioned profit of ¥ 60,000.

37erer

Or

AT F MR T Fld 79T G Fd Hifrg—
(i) 77 g ;2,500 3797 T 10 Ffa 3791, T 8 gehal
(il) 79 a9 § YT foar a1 ATy
2008-09 — 12%, 2009-10 — 15%, 2010-11 —>
13%, 2011-12 — 14%, 2012-13 — 16%

(iil) FF &1 GHIE X 10%
Find out value of share on yield basis :

(i) Share capital : 2,500 shares of ¥ 10 each X 8 paid
up.

(i1) Dividend paid in the previous year

[ 5] P.T. O.
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2008-09 — 12%, 2009-10 — 15%, 2010-11 —»
13%, 2011-12 — 14%, 2012-13 — 16%

(i1i1) Normal rate of return 10%.

. 1 878, 2018 T T for. &I arF fo7. 7 fA=fafad

vIa T forr—

arg 7. QI 1 vl a9r o Gl @ gEaE
o W ERIG | a1 for. TRy foar. & STeTeiREl W
T 10 T 3797 Fohe I 791 TRT fol. § T 3
20 % 3791 WX 10 arer 3 3790 &1 ;1 % 10 arer
g ST GH G T HH ST | TRT [oT. &1 3797
9T % 20 &1eT 50,000 T T 37911 % T h1 AT
HITT

X Ltd. was taken over by Y Ltd. from 1st April, 2018

upon the following terms :

Y Ltd. to assume the liabilities and take over all the
assets at book value. Y Ltd. to pay the shareholders in
X Ltd. X 10 per share in cash and to give three I 10
shares in the Y Ltd. for every shares of ¥ 20 in X Ltd.
The share of ¥ 10 each were considerd as being at par
share capital of X Ltd. 50,000 shares of ¥ 20 each
fully paid. Calculate purchase price.

[ 6]
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sferar
Oor
& G FT ST TG 3e¥T FAY |
Explain the meaning and object of External

Reconstruction.

. HIF] 7. & Gl GHAT 79 Hl THI A T FT
form &1 #1er 7 399 a5 4 2 16,000 &1 g7 331
3R Tl g 4 T 40,000 H7T Y 37Sq far) fgara
Y § e for. 73 20,000 FT TR YA 671
Ifc GFYRT F0H1 GerEd HEA w1 G4l @
T T Tl 3791 YAl § Pl & al TqH! J&ah!
q sfravaes gl grafeedr Hifid |

Ramesh Ltd. purchased all the equity shares of Kavya
Ltd. Kavya Ltd. suffered a loss of ¥ 16,000 in the
first year and earned a profit of ¥ 40,000 in the second
year. Kavya Ltd. disclosed a dividend of ¥ 20,000 in
the second year. If holding company makes a record

of all the losses and profits of the subsidiary company
in the books pass the necessary Journal entries in its
books.
s{qar
Or

fafsa faed & faw @l &1 a7 $4 et sl
87

(7] P.T. O.

Code No. : A.B.B-233
How is amount of goodwill found for consolidated

balance sheet ?
g ‘g’
Section ‘C’

fAeifeRa g1 3T g9+ % 3T 300-350 VI GiH7

731
Answer the following long answer type questions
with word limit 300-350. 8x5=40

. e far. 7 gema & T 100 a1t 200 3797 #7597 W

R ART T TE &, T 45 Tia 79T ST AT a9
3 25 Ff 3791 JoH QI 37f-aF AT T YIarT 7 B
T YU T o7 1 397 T 30 I 3797 g 1 19T

T YA T o471 frefoiaa et 4 &7 3791 &
U: a7 @7 W = glaredr &1 Sai—

(i) 100 3797 @1 % 80 TfT 3797 YUl gohal HAHT JA:
fifaa ferar T

(ii) 75 3797 &1 100 Fid 3791, T Fehell HITHI YA:
fifaa fear T

(iii) 25 3791 &1 T 120 GfT 3797 GO gohar HHHT GA:
fffara fomem T |

Deepa Ltd. forfeited 200 shares of ¥ 100 each fully
called up held by Prashant for non-payments of

allotment money of ¥ 45 per share and first and final

[ 8]



Code No. : A.B.B-233

call of ¥ 25 per share. He had paid the application
money of X 30 per share.

What entries will be passed for re-issue of these
shares in the following cases :
(1) 100 shares are re-issued as fully paid up for I 80

per share.

(i1) 75 shares are re-issued as fully paid up for I 100

per share, and

(iii) 25 shares are re-issued as fully paid up for I 120

per share.

3HIdar
Or

FUTH & INYT 1 G F GHEET)

Describe methods of redemption of debentures.

T FEH] [T Cfeseh GHITT g7 & THIf-4d 747
fae/or & GHIgE HT 3779 a0 @rar 75T | 3T
TR, aga g5 TRT W 2% qI1 SRIGTT GeR
(JaYRT GeRl &1 BIge?) H d@iel S areft 197
2% &1

LGl IRIELI T 10,000
SRIT TR/ T 32,000
BT T 10,000

[ 9] P.T. O.
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grfael & et TREr g gi—

R CECE % 20,000
e F g T 18,650
FAR T Rl T 1,000
T T 1,000

The following particulars relate to a company which
has gone into voluntry liquidation. You are required to
prepare the liquidator’s final statement of account
allowing for remuneration @ 2% on the amount
realised and 2% on the amount distributed to unsecured

creditors (other than preferential creditors).

Preferential creditors < 10,000
Unsecured creditors < 32,000
Debentures < 10,000

Following amounts were received on assets :

Land and Buildings < 20,000

Plant and Machinery < 18,650

Furniture and fittings < 1,000

Liquidation expenses < 1,000
[ 10 ]
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37grar

Or

AY-gIF fIevor 97 & d9% &4 & foa@ Fat
e, 2013 & fafy= gragrr &1 o7 T

Describe various provisions of the Companies Act,

2013 for preparation of statement of profit and loss.

. &4t wH @ efd & gewred & fow qEmEG
3GT 5 Y FT HewT % 4,52,090 &/ AT
T g8t 3iga ary T 4,04,000 &1 10% 3f=d anforfe
3 FT G FXar &1 3iga e e
7St T 26,82,000 o1, febg S/ Goul oAb T 9T
fes=r 7171, & eifia g5 % 28,80,000 i TS 1 G
Ul &1 @RIG H1 HEYA FId gU A & Jod hl
T BT

The average net profits adjusted for valuation of good-

will of a firm amounted to I 4,52,090. The average
profit before adjustment were I 4,04,000. 10%
represents a fair commercial return. The average
tangible capital employed was I 26,82,000 but open
valuation, the capital employed was found to be
< 28,80,000. Assuming five years purchase, find the
value of goodwill.

[ 11 ] P.T. O.
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37grar

Or
9T & GoAiRd &1 fafy=T [afyEl @ GHeET
Explain various methods of valuation of shares.

% T YRdl [o1. &7 THIHIT 91 FHE1 . §RT
ferar Temr—

I gEfaEr — 362,000

3797 it — T 90,000

T gEraa — T 33,000

GE G579 — % 20,000

ferferer d9ard — % 8,000

Y HTAT foT. 7 YRAl &A1 7. @l [AEEad w4

gidwel &1 YITar fehar—

(i) ¥ 20,000 gad o & 5% FUGH, 5% TN
q¥l

(i) 919 X 1 aret 3797 75 99 gHar god W

W FE 1. T v o, F9A % g v

gfefsar e

Shyam Company Ltd. amalgamated the Bharti Company

Ltd. with the following assets and liabilities of Bharti

Co. Ltd. :
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Fixed Assets ¥ 62,000, Share capital ¥ 90,000, Current
Assets I 33,000, General reserve I 20,000 Sundry
liabilities ¥ 8,000.

Shyam Company Ltd. paid the following purchase
consideration to Bharti Company Ltd. :

(i) 5% Debentures I 20,000 listed value at 5%
premium.

(i1) Balance with shares of X 1 paid up value 75 paise.

Give journal entries in the books of Bharti Company
Ltd. and Shyam Company Ltd.

37erer

Or

faer ®1 9Ffa 4 THIHT aoqr FT F1 THld T
THIFIT G 379 F7 GHIAT &2 Sl 7 371 3= &7

What do you mean by ‘Amalgamation in the nature of
merger’ and ‘Amalgamation in the nature of purchase’ ?

What is the difference between the two.

. U9 fa. 3Rk ug fa % f[AEfafad gl og
qufadl &7 a0 & 3R 9 31 4714, 2019 &I T

far. & foq gafera fagar aET—

[ 13 ] P.T. O.
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31 AT, 2019 & qfdeal 30T qafaan &1 faeavor

Team@d Ta@H

Il
3797 it 3 10 aret 10,000 5,000
quled 39 H
= g9 3,000 3,000
SNY-gl faeror g3 2,000 1,000
fafay @ er 10,500 3,000
25,500 12,000
gafaar -
fafasr gufaar 20,000 12,000
fafrrT 5,00,00,000 5,500 —
3791 Ty, foafiee 4
T o
25,500 12,000

(i) To. feafqee 71 3/aR, 2018 & 3797 9T [64 |

(i) g faffls & = 999 9 1 37907, 2018 HI
T 2,000 TTE 7 37919 971 TE. ferfee g3
1,000 TTY-g1f+ faeror 95 4 31 414, 2019 &
qE= 99 9 37akad &% 131 TG, fafiee &
Y- 3a70 97 7 01-04-2018 BT FHIE 7T9T
el orl
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Prepare a consolidated balance sheet on 31st March, Ltd. transferred ¥ 1,000 Lakhs to General reserve
2019 for H Ltd. from the following details of from statement of profit and loss on 31st March,
liabilities and assets of H Ltd. and S Ltd. : 2019. There was no balance in the statement of

Details of Liabilities and Assets as on 31st profit and loss of S Ltd. on 01-04-2018.

March, 2019 37gar
Particular H Ltd. S Ltd. or
T in Lakhs ¥ in Lakhs fafsra 7%2\67 F & 3R g8 DY T A &7
Liabilities What is consolidated balance sheet and how is it
Share capital in ¥ 10 10,000 5,000 prepared ?
fully paid share

General reserve 3,000 3,000 700008488800
Statement of P & L account 2,000 1,000
Sundry creditors 10,500 3,000

25,500 12,000
Assets
Sundry Assets 20,000 12,000
Investments 5,00,00,000
shares in S Ltd. at cost 5,500 —

25,500 12,000

(1) Share were acquired by H Ltd. on 1st October,
2018.

(ii) There was a balance of ¥ 2,000 Lakhs in the
General reserve of S Ltd. On 1st April, 2018 S

[ 15 ] P.T. O. [ 16 ] 16/50



